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SET -1 Q 10. TS @11 A&l SaT!’ 39 areR hi ugar HIfrg-
(A) dared (B) Wraar="
S{TST @ ST 2000 a9 G A7 & STgTel AMUR &l @il | () farsa (D) &# @ &g gl
# AIER d¢ YT dfferrg & gdi d¢ wR omd | 39 At |  1.qecht gof &t ufermn fopaa gag & gt &1
YAETR & it meell IR AR-HHreg & AfAaR 91 | (A)365 oA (B) 364 fe=
3R A9 & IRl H WRd # A areht femg-aggsit | (C) 366 o (D) 368 f&=1

& gt A off | Al St YRa & Ad-aae, FuE,
FIFdt STargrd, 7R o9 uefl, der S ug) dgd ude I
A & ST AR & SREGTR gd §¢ ATATER-a
3ryar gdf d¢ UR ST & A1 T U Sgreil R difda
AT MR R dael H AT & d19H AH It 5I1d 1 A7 8
U I & &1 YR 359 Fgd U=t gt Mgl

Ik Meriar & YR R Ry g wsi & 3wl & g
Tl fRAereu &1 7= fifST)

Q 1. T 2000 ¥ g IAAFAT ATER dE R A I-

(A) TR Fr @ d (B) STgTeil 6t @ret &

(C) @R Y W1 § (D) sTrsit il @rar &

Q 2. 39 & urel & Fgor F 9-

(A) &7 OTTR (B) 3R¥ ATR

(C) ATETER-dC (D) ¥ UTR & T

Q 3. Ut et # A9 & & -

(A) ¥IRa & Figd g1 ure foma

(B) afAeT=Tg & 3 3eh Uieehi ol W foha

(C) ¥Ra # A= areft faema-asg3ii ot aga ua= feari
(D) WRd &t faerme-a&qq st

Q 4 . afeyor WRdTT Ty 9gd u=l gl My, waffes-

(A) 3% I9 F =1 e (B) 3= A9 4@ ER A

(C) Tgt & fAardt y= am & forw A9 md

(D) Ik Il & STH-UTH FHEI ¢ AT

Q 5. 3T TN T Ig UdT Tt & foh urha ahrer | gfdror
YR & fAard-

(A) TH 9 9gd AUR &3d & (B) AH ol STgTal deid o
(C) A ot Fgd AT # AT o &

(D) 39 & farerrs &t aEqy uTed et A

Q 6. W' UG S I+ H hI-HT YT 7 §3HT 872
(A)e (B) 3h (C)3h (D) 3ich

Q 7. fdares frar faghyor g-

(A) 371 (B) Sharfq (C) 3Tsiehet (D) &TER

(A)!Ff + X (B) HAl + 82 (C) | + 37§ (D) HAIE + X
Q 9. gurf ¥ THN g-
(A) @y (B) sregdira (C) @igsfife (D) &=

1
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Q 12. ¥4 fhg #gTga & 82

(A) 3nhie (B) qfR@m (C) 3iu (D) sifeeferan
Q 13. MR @13 Y T fra gidt 8
(A)180 (B)360 (C)220 (D)280

Q 14. G99 F81 HgTdhTd

(A)IE@0T (B)dE (C) HETHRA (D) G101
Q 15. =< A g% & T1Y HYT HGER |
(A) fA=ar &1 (B) 3T &1

(C) Tt @t (D) STUHTA T

Q 6. ufdg Mt 7y fhyg a5 @ 81

(A) F1de (B)yETHdE (C) 3rydde (D)asida

Q 17. gIoTt Y Tt

(A)108 (B)21 (C)o7 (D)18

Q 18. HIFG T UUH UTeld U

(A) T (B) F=T (C) I (D) &e

Q 19. & FaTaN & UMt TS HE YF g3
(A)2014 (B)2012 (C)2015 (D)2017

Q 20. ITR U T I i &I 8

(A) SRaT&IH (B) Sh¥chchell (C) &YUh (D) HiAget
Q 21. Identify the Pronoun

(A) Rahul (B) Reena

(C) She (D) Tanu

Q 22. Identify Adjective

(A) Beautiful (B) father

(C) friend (D) Lion

Q 23. Choose the correct option

l......25 years old

(A) is (B) are

(C) am (D)a

Q 24. Tom......to school every dauy.
(A) Go (B) Goes

(C) Went (D) Gone

Q 25. He is.... very intelligent boy.
(A) The (B)A

(C) An (D) He

Q 26. Masculine gender of 'Wife'
(A) Male (B) father
(C) Husband (D) Brother




Q 27. Plural of leaf

(A) Leave (B)Leafs
(C)Leaves (D)Leefs

Q 28. Plural of Baby

(A) Babuys. (B) Babies
(C) Babis (D) Babues

Q 29. Choose correct article

Sheis....... Intelligent girl

(A) An (B) A

(C) The (D)1

Q 30. Choose correct comparative form-
Rohan is tall than Anuj.

(A) Taller (B) Not tall

(C) Tallest (D) The tallest

Q 31. a5 &1 1 IUTT gAR & Sita 7 giar 82
(A) Shaet ferarat &

(B) Shaet yaTRIATS H

(C) ¥R AT & Srat A

(D) chae el #

Q 32. QU H STl I AT T FHgalTdT 8?2
(A) gt (B) At

(C) Asor (D) 319

Q3. &< 1 Uy a9 w1 | rT SArdT 87?

Q 38. STerarg # uRgd= & HRUT &l H Urhfdas

T gidt 872

(A) asf (B) T

(C) THha=t (D) U<k gt

Q 39. 79 3R oA & argm= F Fgera fohg @Ror ghan
)

(A) gedt a1 gHT

(B) g & urrdTt feheol

(€) afe &t SufRfy

(D) awf

Q 40. UL T H &I T1 §=F g1y IugHT gia1 8?2
(A) gmm (B) Tehst
(9G] (D) RS
Q 41. 3 gu¢ H fohawt e gi?
(A)90 (B)120 (C)180

Q 42. 45+15x2 T HIF &7 g ?
(A)120 (B)75 (C)60 (D)70

Q 43. Toh Ayt & |ft 3r=: luTl 1 TRt fohaem
gar 8?2

(A)90° (B)120° (C)180°
Q 44. 80 T 25% foha=TT ghmr?
(A)10 (B)15 (C)20 (D)25

Q 45. g Uah 3mad fi a1 8 THto IR AISTS 5
tito §, It ITT STheT I BRI ?

(D) 240

(D) 360°

(A) art (B) &ar (A) 13 @ Sfto

(€)ath (D) sreet (B) 20 @ Tfto

Q 34. frg uerd &t 19 wgT SiraT 82 (C) 30 a7f Afto

(A) gar (B) & (D) 40 @ d+fto

(C) |tr (D) z@ ‘ Q 46. 3 3T 15 TH1 1 g2

Q 35. ueref & fFa+ Ter 99E &id 8?2 (A)18 (B)30 (C)12 (D)45

E/é)) g ((g)) ; Q 47. 0.5 + 0.03 &I THTHA T §IIT?
_ (A)0.8 (B)0.08 (C)0.53 (D)3.5

Q 36. UT-I H TH i 37T & <l fafd aram 82 Q 48. 1 Feftom & s 7 81 82

(A) BT (B) arsftehzur (A) 100 777 (B) 500 7T

(C) T g1 g (D) fheer e (C) 1000 TTH (D) 2000 TTH

Q 37. FI% U @ AT el ST e <h wfehar Q 49. 8 T JTT e BT

Hgelldl 82 (A)2 (B)3 (C)&4 (D)5

(A) flheerem (B) arsfierzor Q 50. 100 T 10% fera= ghm?

(C) Tueqa (D) 3ranyoT (A)10 (B)5 (€)1 (D)20
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